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PART - 111
Qunmeflueo / ECONOMICS

(50D whmib < mde aufl / Tamil & English Version )

& 3jema : 3.00 wenfl Cryid ] [ Qurgs wHlbuarTser : 90
Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

Sidleyenraet : (1) marsgy oarssEnn flurs udard e erarsm aarUgamearn
sflurisgé Qsrarereyd. SFaliudeler Gapull@Lder, dops
sanasrefiliureTiiLb 2 | anquinsd Ggflellésayw.

2) Beowd oegH SHUY &0 Lo U e eo LDIL@GLD. 6T (LPGIQUSM (&L
3l &ECsTyHeaugn@Eh Lwatu®ss Geuam(Bb. LLRSGET euanfeugn G
Quenfled LwearL(HSSLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2j Use Blue or Black ink to write and underline and pencil to draw diagrams.

L&S - I/PART - 1
@OLL : () Semensgl ellamssErsEn efleweflése,wb. 20x1=20
i) Osr@ssuul@erer wrHm elenLsealled Wsa b gHyenL I
NerLaws Corps0sssE GHMUELGLa ellenulemanyd Cargg
GT(LPS@YLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

:F:AN ' m7?
“peSer GuRlwe Qurmaluaden sheng” eran Si@mpdsuubLeuT LI

(@) Db cvid (2p) Ggg-6Tid. Semaiv

(@) rréert 9f&ev (FF) &MJed LOMT&EN
Who is regarded as “Father of Modern Macro Economics” ?
(a) Adam Smith (b) J.M. Keynes
(c) Ragnar Frisch (d) Karl Marx

SlpaumeuaeudmieT @ L rfleler seam@idl. :

(=1) uemt el (=) QEFTsH&S6T

(@) eumeumi (FF) Qeueflipm (hé& Cleomeuentl QmHLL
Identify the flow variable :

(a) Money supply (b) Assets

(c) Income (d) Foreign exchange reserves

PLPGTDITLD FleOm _ CTEAELD HDPESLILIHS D).

(<=1) uenflger (<24,) u(mHLOTETLD (&) Qzmfe (F) 2 pusd
Tertiary sector is also called as :

(a) Service (b) Income (c) Industrial (d) Production
Qrgs w960 mHs) | &GS e Bl&r Wi é]a}L_.?ﬁ@Lb.

(1) eu@pLomentd (<) Cawinrennd

(&) Ceaay (F) Yo bs Qurm_seldn &1L

is deducted from gross value to get the net value,

(a) Income (b) Depreciation

(c) Expenditure (d) Value of final goods
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’ L T b Eﬁ)
(<21) Lheguid (<2) Grévip (@) @yenr(® (rr) Gpiroen
In disguised unemployment the marginal productivity of labour is
(a) Zero (b) One (¢) Two (d) Positive

6. GCelULsGL WsdlBsGh @arlu swuBlamaamu Garar@h 6ldhHel sl
Qpdlpey @

(1) Cpomauden () wiafioGer (@) wpagagHear () euiguile
Flexibility brings equality between savings and investment.

- —

(a) Demand (b) Supply (c) Capital (d) Interest
7. @U(HGUMU 2 WTHSTE, HIST6

(1) Gerpud (<) wrprg) (@) ad @i (F) 2w

As income increases, consumption will

(a) fall (b) not change (c) fluctuate (d) increase

Lemei&agSlen QUT(PE UwWeTenL_UeuTEeT wrf ?

(&) sLer Gubmeur (<=) &6 cupmSGuim

() &6l LOmb Fbuerd QuyGeurt () <y
During inflation, who are the gainers ?

(a) Debtors (b) Creditors

(c) Wage and Salary earners (d) Government

Lewrellwed Glamarengani eulgaiamLolILIg)

(31) el Doy eurudlsar (<2,) euentls eurdlger
(@) eww aud (r7) Qeueflpr () euriud
Monetary Policy is formulated by :

(a) Co-operative banks (b)) Commercial banks
()  Central bank (d) Foreign banks
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10.

11.

12.

.oy .27, (CRR) Erevmige affleurssibd :

(1) Capital Reserve Ratio (<) Credit Reserve Ratio

(@) Cash Reserve Ratio (/) Corporate Reserve Ratio

Expansion of CRR.
(a) Capital Reserve Ratio (b)
(c) Cash Reserve Ratio (d) Corporate Reserve Ratio

Credit Reserve Ratio

SuaBT_(HF Qegssiblme 2 dan &&lu @emasen (BOP)

(=) YoaT@ GumBL&er WL (HLo

(<)) yoaTTsTs Liauflser L B

(@) yeeam@h CummHLaEer LOHDID LTSNS Ligsstlger @UW@\L'D
(/F) wer eurenflu WL (HLD

BOP includes :

(a) visible items only

(b) invisible items only

(c) both visible and invisible items

(d) merchandise trade only

Qfl&ev (BRICS) erenmm &(H&&E Glame Cerssul L e -

(1) 2001 (<) 2005 (@) 2008 (7F) 2010
The term BRICS was coined in :
(B) 2001 (b) 2005 (C) 2008 (d) 2010

13.  uenam(h uent HEwSS e SEMOGMLD SIDICILHLD AMDBFIETET @)L 1D :

(=1) euradiLaim Ig.&l. (<2b) Blypwirs,
(@) eQwenerm (7) Clggatour

The headquarters of International Monetary Fund is in :
(2) Washington D.C. (b) New York

(c) Vienna (d) Geneva

SRR S B 5 T
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g,zp@@@ucsmsumggm et Grieps eufl :

(1) soore auff (<) eugpoman il

(@) FES curfl (rr) Coenal cuifl

Which of the following 1s a direct tax ?
(b) Income taX

(a) [Excise duty
(d) Service tax

(c) Customs duty

APLRGLD B permenu @ﬁﬁhwgaﬂ@ &@@mu@g@um :

(=) Fr. Gweor (<) erev. Cagmy (&) |_TeOL_60T (rF)  eumeoGLimed

Sinking fund method was first introduced by
(a) E. Taylor (b) S. Shoup (c) Dalton (d)

- Walpol

LpPTEG®D HHUTESSS 6N 2iigLiLemL Crréswomneg) :

(1) Qurerrgry PeGarDOLD (=y,) QUTHETTSTT ﬁ;]msuggsmsmm
() Geuened eumILIL D _(THEUTE @GSV

(@) QummeTTSTy FL0&F| LD

The primary purpose of deficit financing is :
Economic Stability

(a) Economic Development (b)
Employment Generation

(c) Economic Equality (d)

e wrEedDE WPsOB STTamd _
(=) yFfleow sLHUUBSSLD BL_6U gD ESET

<) Hle Guwur(

(@) ofeusmL BleombigeT aULIWITS urru'_@@grr(BLb LOGLOIBIT
(FF) @uamuer o fhi&er

The primary cause of soil pollution is __

(a) Pest control measures

(b) Land reclamation
(c) Rainwater run off through agricultural land
(

d) Chemical fertilizer

: [@@Dl—lﬁ / Turn over
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18. Uleneneny sWla|sar eran QuTgjeuTs @ﬂl'-l&l_L'JLJ@@E:ﬁTDEM.
(1) L& sflaysar (=) GUOUS s\fle&er
(@) @ - sfleysen (FF) m@g@mmmsﬁré &0 6| &6
Electronic waste is commonly referred as :
(a) solid waste (b) composite waste
(c) e-waste (d) hospital waste

19. Spésan Sl fismar wime wpar@mAULILLL @6 SHigUUmLL6
sTeslrn euflensiuig auflensiL(REES

() waser Hiiib (i) wmbGu S

(i) meuaniemrew Crm S L b (iv) efevGeuseuruiwim Sl b

(1) (0)-(i)-(i)-(iv) (<) (iv)-(iii)-(i1)-(1)
(8) (0)-()-(iv)-(ii) () (id)-(3)-(iv)-(iid)
Arrange the following plans in correct chronological order :
(i) People’s Plan (i) Bombay Plan
(iii) Jawaharlal Nehru Plan (iv) Vishveshwarya Plan
(a)  (i)-Gi)-Gii)-(iv) (0)  (i)-Gii)-(ii)-(i)
(©  (i)-(ii)-(iv)-(i) (@) (ii)-(i)-(iv)-(iii)

20. eaGams@s L gden wHbprmL Quuwr

(=) odu st HlLblo () BO&STE ETS L 186
(@) BerL sreg St 1ble () Qeveu eTgIoydlevenay

Perspective plan is also known as

(a) Short-term plan - () Medium-term plan

- (0) Long-term plan (d) None of the above
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LGS - 11/ PART - 11
sTemeuGuenio (P N TESEHES S waeldsa)b. eubdle eller

30 -&(F SLLMuULIS NenL_wall&Esa|LD.
tions. Q. No. 30 is compulsory.

T GTeoT
7x2=14

Answer any seven ques

21. GNP sancd(@b Ga3lrsams Tdl®:
Write the formula for calculating GNP

22. “learas Cgamau” GTEIMITE) GTEuen 2
What is an effective demand ?

23. miSTal S TENDTE) 6Teuer ?
What is consumption function ?

24. SLET 2 (HAUNESD TR Greme 7
What is credit creation ?

25. Qearaiawi (FOREX) — auanyelll&seantd $(hHs.
Define FOREX.

26. Apuiy er@riyfiennser eramugen CLMHENET 6T(LpSIs.
Write the meaning of Special Drawing rights.

27. <nfla weip upl fn GOHUY s
Write a note on Acid Rain.

28. SHMIEGLD QUTTHLSET TEIMTEL G ? 2.TTERTLD S(HS.
What are environmental goods ? Give examples.

29. Qummamsty parGampsslar sups GHluihiasmer UL igwedl(Hs.
List out the Social Indicators of Economic Development.

30. AgpréavLen wHML OCsaTLe Seursaile FHOMUuL Lerefludwene
UDTUMISSLD.
Define Statistics in the words of Croxton and Cowden.

[ HmLiys / Tum over
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31.

32.

33.

34.

35,

36.

37.

L&) - 111 / PART - 111

ssaytd. Seupfle el o
7x3=21

sremeuCWenibd e lamésenss oflewaf
40 -&@ SLLmuwns efen_welés Gousm@ILb.

Answer any seven questions. Q. No. 40 is compulsory.

SeULIL Qurr@mrrg,rrrjgglein @pé;é;‘lm @Lusbqasmm ﬂ@ﬁn@.@@@&

Enumerate the features of mixed economy.

soaeis aumwrend LpBl om Hny GHLIY TEs.

Write a short note on per capita income.

Clg remrenLouwgGengi b semedliugeng b @UIIMS. (Casab <2pm eSlsSHursmiser)

Write any six differences between Classism and Keynesianism.

Blensls Cumadl — eflensdEs.

State the concept of Supermultiplier.

uemTompm eSgb ereueurmy @rear(® penmseaia bl e o ) g5 CTETLIoN S,
2 STTERTSGIL 61 ellend (58

How the Rate of Exchange is determined ? Illustrate.

U STUL @UUBSLD eTETmTed eTestam ?

What is Multlateral Agreement ?

Cpieps wpHID werpeps eufls@séden Guwman G Capur@senes s ys
Write any three differences between direct taxes and indirect taxes |



38.

39.

40.

4].

42,

9

g6l wrasilamear 5L HUUESSUHSTET Sia) WPEDEET WTEma ?

What are the Remedial measure to control Noise Pollution ?

aumenwwilen mEs spnfulenar cueTULSHIL 6 6hl6TEES.

Explain vicious circle of poverty with diagram.

auflei&aid (Taxflation) wHmid &Tég LiewTeISEID eTemmmed Greves ?

What is taxflation and currency inflation ?

@S\ - IV/ PART - IV
OS5 G TS EREEGL ellenLwell&seaw.
Answer all the questions.

(1) epenm sieon Gye @l wrdfluileear ellflurs allarsEs.
XNV
(<) FH& Qarearensuier Crrésmsmen elloull&Esed.

(a) Briefly explain the three sector circular flow model.
OR

(b) Explain the objectives of fiscal policy.

(=) Cadlw aumeumudlen WPEELSH LSS efleufl&Eayi.

4197 (NS)

7x5=35

ATV
(<) ADF npmid ASF -&@ @ wlere soflooow aumruLd gpab
edeufl&&aLb.
(a) Explain the importance of National Income.

OR
(b) Narrate the equilibrium between ADF and ASF with diagran

[ HUys / Turn over
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G (MEC) (5L gdn

13. (S) ppogasden Gomdfleow cpusds I (HaeT wrened 7

s 5oL e 2 : - 2 LIm
Sodfeow 2 husds Spasen (ME) edier CaD

S0V G

(<) vamsilen uefsanar efletgs.

(a) What are the difference between MEC and MEI ?

OR
(b) Explain the functions of money.

“. (&) weoreizgan wipn swsgan wbuapia Guolsaa gUAGS
VG
() asamlls asiidaafien uarisamar SAEEICES
(@) Compare the features of Capitalism and Socialism.

OR
() Eluddate the functions of Commercial Banks.

45. (=) uuens Gsoais Cam un weer efleuflésayLb.
NNV
() vemaam_ U verHdwsSen Crréstisenar eflen&sayb.
(2a) Explain the comparative cost theory.
OR
(6) Explain the objectives of LM.F.

46. (=) awe) Gsaeis Jit 580 2 der Laaues UDDTEGDSen
ALV
() vobap amsures AL amasggr sileufigsayp.
{2a) Descaibe the various types of Budgetary Deficits.
OR
{p) Describe different types of planning.

e G)Slsrré;@&;.
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g7. (3) b35S BV euarid GETMT GUeriTds) (Epéaélu_lﬁ;@jeum LD (D) M) LD S5
Crrasmseen cfleansss.

3| 60605
(<) ‘E’]'fi“@-'@'-b Gﬁ]a.llrrﬁj&s@é;@ O HMHWLEF &FIMNE
&S TS e LweTu®HEE @l Bneys Capeilene geRTLMS.

A emw LwetuBSHH P

adleney X 10 14 16 7 18
ety Y 40 44 48 44 49

(a) Explain the importance of sustainable development and its goals.

OR

(b) Find the correlation coefficient with actual mean hethod for the following data.
PriceX | 10 14 16 | 17 18
SupplyY | 40 | 44 48 44 49
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